Circuit Argentiere - le Tour - Tré le Champ Trailof  8.2Km Circuit Argentiére-le Tour-Tré le Champ, 8.2Km, height difference +350m/-350m
Duration of the trail estimated depending on speed : 50 mins to 1 hr % +350m Start /Finish: SNCF station Argentiére (bus stop line 1). Just in front of the station take the chemin
-350m des Velors, just to the right of the public dustbins (moloks). Join the river bank of the Arve and run up

1550 57 61 it 200m to cross at the bridge. Pass in front of the church and after 50m continue along the road via
1500 60 the chemin de la Moraine. After 500m, go under the railway and you will see signpost 55.
1450 Signpost n° B direction or instruction from this signpost| 61 ® Tré le Champ
55 > Le Tour 62 > Tré le Champ
1400 56 > Le Tour 63 > Argentiere
1350 57 » Le Tour 66 > Argentiere
1300 58 B Le Tour 64 » Argentiéere
tart Club Alpin Frangais (CAF) hut, traverse the village | 65 ® Follow the chemin du Vieux Four as far as
1244m of Le Tour as far as the large car park on the right | the cemetery. Follow the road to the church. Take
1200 bank of the Arve. In the middle of the car park you | the path in the opposite direction to the outward
will find signpost 59 at the edge. trip and cross the bridge and the square which
1150 ! ' ' ' ' I6 '7 elg 59 B Tré le Champ joins it. Turn left down the main street and you
0 1 2 3 4 > 60 » Tré le Champ will find the SNCF station once ggain on your left.
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